

# CERTAIN GENERATING FUNCTIONS

: (K.M.) SHOBHA SAXENA

Lucknow University, Lucknow

(Received 10 July 1971; revised 8 December 1971)

This paper offers a brief account of the generating functions originated from a relation of the type

$$\sum_{n=0}^{\infty} \Psi_n t^n = (1-t)^{-\lambda} \cdot F \left[ \begin{matrix} \lambda : \rho - \mu ; \mu, (\alpha_p) \\ \rho : \text{---} ; (\beta_q) \end{matrix} ; \frac{t}{t-1}, \frac{xt}{t-1} \right] \cdot \sum_{k=0}^{\infty} \phi_k t^k$$

where,

$$\Psi_n = \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k}}{(\rho)_{n-k} (n-k)!} {}_{p+1}F_q \left[ \begin{matrix} -n+k, (\alpha_p) \\ (\beta_q) \end{matrix} ; x \right] \cdot \Phi_k.$$

Here,  $\sum_{n=0}^{\infty} \Psi_n t^n$  converges and  $\Phi_k$  is a suitable sequence such that  $\sum_{k=0}^{\infty} \phi_k t^k$  converges. Such generat-

ing functions are valuable in the study of polynomial sets and other special functions which occur in physical problems and as solutions of differential equations.

Recently a series of generating functions for ultraspherical polynomials have been given by Brafman<sup>1</sup>, Brown<sup>2</sup> and Saxena<sup>3</sup>. Srivastava<sup>4</sup> and Varma<sup>5</sup> have also given double hypergeometric functions as generating functions for Jacobi and Laguerre polynomials. In this paper we have given certain more general generating functions for ultraspherical polynomials involving Kampé de Fériét type of functions.

## THEOREM

Let us consider a relation

$$\Psi_n = \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k}}{(\rho)_{n-k} (n-k)!} {}_{p+1}F_q \left[ \begin{matrix} -n+k, (\alpha_p) \\ (\beta_q) \end{matrix} ; x \right] \cdot \Phi_k \quad (1)$$

for any given sequence  $\Phi_n$  ( $n \geq 0$ ), such that  $\sum_{n=0}^{\infty} \phi_n t^n$  converges absolutely. Then

$$\sum_{n=0}^{\infty} \Psi_n t^n = (1-t)^{-\lambda} F \left[ \begin{matrix} \lambda : \rho - \mu ; \mu, (\alpha_p) \\ \rho : \text{---} ; (\beta_q) \end{matrix} ; \frac{t}{t-1}, \frac{xt}{t-1} \right] \sum_{k=0}^{\infty} \phi_k t^k, \quad (2)$$

where  $(\alpha_p)$  is written for  $\alpha_1, \alpha_2, \dots, \alpha_p$  and the series  $\sum_{n=0}^{\infty} \Psi_n t^n$  converges.

The proof easily follows by using the result obtained by Srivastava<sup>4</sup>:

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(\lambda)_n (\mu)_n}{(\rho)_n} {}_{p+1}F_q \left[ \begin{matrix} -n, (\alpha_p) \\ (b_q) \end{matrix} ; x \right] \frac{t^n}{n!} \\ &= (1-t)^{-\lambda} \cdot F \left[ \begin{matrix} \lambda : \rho - \mu ; \mu, (\alpha_p) \\ \rho : \text{---} ; (b_q) \end{matrix} ; \frac{t}{t-1}, \frac{xt}{t-1} \right] \end{aligned} \quad (3)$$

which is a special case of (2) when  $\Phi_0 = 1$  and  $\Phi_n = 0$  for  $n > 1$ , and which is an extension of Varma's result<sup>5</sup>. The Kampé de Fériét type of function

$$F \left( \begin{matrix} \mu \\ \nu \\ \rho \\ \sigma \end{matrix} \middle| \begin{matrix} \alpha_1, \dots, \alpha_\mu \\ \beta_1, \beta'_1, \dots, \beta_\nu, \beta'_\nu \\ \gamma_1, \dots, \gamma'_\rho \\ \delta_1, \delta'_1, \dots, \delta_\sigma, \delta'_\sigma \end{matrix} \middle| x, y \right) \equiv F \left[ \begin{matrix} (\alpha) : (\beta), (\beta') \\ (\gamma) : (\delta), (\delta') \end{matrix} ; x, y \right]$$

is defined by the series

$$\sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{\prod_{j=1}^{\mu} (\alpha_j)_{m+n} \prod_{j=1}^{\nu} \{(\beta_j)_m (\beta'_j)_n\}}{\prod_{j=1}^{\rho} (\gamma_j)_{m+n} \prod_{j=1}^{\sigma} \{(\delta_j)_m (\delta'_j)_n\}} \cdot \frac{x^m y^n}{(1)_m (1)_n}$$

where  $\mu + \nu \leq \rho + \sigma + 1$ .

PARTICULAR CASES

Case I

If in (1) and (2), we put  $\lambda = \rho, p = q, (\alpha_p) = (\beta_p)$  and  $\Phi_j = (\alpha)_j (1 - X)^j / j!$ , we get the generalized Jacobi polynomial

$$\Psi_n = \frac{(\mu)_n}{n!} (1 - x)^n F \left( -n, \alpha; -\mu - n + 1; \frac{X - 1}{x - 1} \right) \tag{4}$$

and its generating function

$$\begin{aligned} \sum_{n=0}^{\infty} \Psi_n t^n &= (1 - t)^{-\lambda} F_1 \left( \lambda; \lambda - \mu, \mu; \lambda; \frac{t}{t - 1}, \frac{xt}{t - 1} \right) \cdot {}_1F_0 \left( \alpha; -; (1 - X) x \right) \\ &= (1 - t (1 - x))^{-\mu} (1 - t (1 - X))^{-\alpha} \end{aligned} \tag{5}$$

The first term in (5) was given by Saxena<sup>3</sup> and the next one by Carlitz<sup>6</sup>. (4) and (5) also extend a result by Niblett<sup>7</sup> and another due to Chaundy<sup>8</sup>.

Case II

Putting

$$\Phi_j = \frac{(a)_j (b)_j}{(c)_j j!} {}_2F_1 \left[ \begin{matrix} a + j, b' \\ c + j \end{matrix} ; x \right]$$

in (1) and (2), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k} (a)_k (b)_k}{(\rho)_{n-k} (c)_k (n-k)! k!} {}_{p+1}F_q \left[ \begin{matrix} -n + k, (\alpha_p) \\ (\beta_q) \end{matrix} ; x \right] \\ \cdot {}_2F_1 \left[ \begin{matrix} a + k, b' \\ c + k \end{matrix} ; x \right] t^n \\ = (1 - t)^{-\lambda} F \left[ \begin{matrix} \lambda : \rho - \mu; \mu, (\alpha_p) \\ \rho : \dots; (\beta_q) \end{matrix} ; \frac{t}{t - 1}, \frac{xt}{t - 1} \right] F^{(1)} \left[ \begin{matrix} a; b, b' \\ c; x, t \end{matrix} \right] \end{aligned} \tag{6}$$

where  $|x| + |t| < 1$ .

For  $p = q, \alpha_1 = \beta_1, \dots, \alpha_p = \beta_p$ , and  $a = c$ , the above reduces to

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{(\lambda)_n (\mu)_n}{(\rho)_n n!} (1 - x)^{n-b'} {}_3F_2 \left[ \begin{matrix} 1 - \rho - n, -n, b' \\ 1 - \lambda - n, 1 - \mu - n \end{matrix} ; \frac{1}{1 - x} \right] t^n \\ = (1 - t)^{-\lambda} F \left[ \begin{matrix} \lambda : \rho - \mu; \mu \\ \rho : \dots \end{matrix} ; \frac{t}{t - 1}, \frac{xt}{t - 1} \right] F^{(1)} \left[ -; b, b'; -; x, t \right] \end{aligned} \tag{7}$$

Case III

If, however, 
$$\Phi_j(x) = \frac{(a)_j (b)_j}{(c)_j j!} {}_2F_1 \left[ \begin{matrix} a + j, b \\ c \end{matrix}; x \right],$$

(1) and (2) give the generating function

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k} (a)_k (b)_k}{(\rho)_{n-k} (c)_k (n-k)! k!} {}_{p+1}F_q \left[ \begin{matrix} -n+k, (\alpha_p) \\ (\beta_q) \end{matrix}; x \right] \cdot {}_2F_1 \left[ \begin{matrix} a+k, b \\ c \end{matrix}; x \right] t^n \\ &= (1-t)^{-\lambda} F \left[ \begin{matrix} \lambda: \rho - \mu; \mu, (\alpha_p) \\ \rho: \text{---}; (\beta_q) \end{matrix}; \frac{t}{t-1}, \frac{xt}{t-1} \right] F^{(2)} \left[ \begin{matrix} a, b, b' \\ c, c' \end{matrix}; x, y \right] \end{aligned}$$

where  $|x| + |y| < 1$ .

(8)

For  $b = c, p = q$  and  $\alpha_1 = \beta_1, \dots, \alpha_p = \beta_p$ , (8) reduces to

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(\lambda)_n (\mu)_n}{(\rho)_n n!} (1-x)^{n-a} {}_4F_3 \left[ \begin{matrix} 1-\rho-n, -n, a, b' \\ 1-\lambda-n, 1-\mu-n, c' \end{matrix}; \frac{1}{(1-x)^2} \right] t^n \\ &= (1-t)^\lambda F \left[ \begin{matrix} \lambda: \rho - \mu; \mu \\ \rho: \text{---} \end{matrix}; \frac{t}{t-1}, \frac{xt}{t-1} \right] F^{(2)} \left[ \begin{matrix} a, \text{---}, b' \\ \text{---}, c' \end{matrix}; x, t \right] \end{aligned}$$

(9)

Case IV

Put

$$\Phi_j = \frac{(a)_j (b)_j}{(c)_j j!} {}_2F_1 \left[ \begin{matrix} a', b' \\ c + j \end{matrix}; x \right]$$

in (1) and (2) to get

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k} (a)_k (b)_k}{(\rho)_{n-k} (c)_k (n-k)! k!} {}_{p+1}F_q \left[ \begin{matrix} -n+k, (\alpha_p) \\ (\beta_q) \end{matrix}; x \right] {}_2F_1 \left[ \begin{matrix} a', b' \\ c+k \end{matrix}; x \right] t^n \\ &= (1-t)^{-\lambda} F \left[ \begin{matrix} \lambda: \rho - \mu; \mu, (\alpha_p) \\ \rho: \text{---}; (\beta_q) \end{matrix}; \frac{t}{t-1}, \frac{xt}{t-1} \right] F^{(3)} [a, a'; b, b'; c; x, t] \end{aligned}$$

where  $|x| + |t| < 1$ .

(10)

Case V

Next, put

$$\Phi_j = \left\{ \frac{(a)_j (b)_j}{(c)_j j!} \right\} {}_2F_1 \left[ \begin{matrix} a + j, b + j \\ c \end{matrix}; x \right]$$

in (1) and (2) to get

$$\begin{aligned} & \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k} (a)_k (b)_k}{(\rho)_{n-k} (c)_k (n-k)! k!} {}_{p+1}F_q \left[ \begin{matrix} -n+k, (\alpha_p) \\ (\beta_q) \end{matrix}; x \right] \cdot {}_2F_1 \left[ \begin{matrix} a+k, b+k \\ c \end{matrix}; x \right] t^n \\ &= (1-t)^{-\lambda} F \left[ \begin{matrix} \lambda: \rho - \mu; \mu, (\alpha_p) \\ \rho: \text{---}; (\beta_q) \end{matrix}; \frac{t}{t-1}, \frac{xt}{t-1} \right] \cdot F^{(4)} [a, b; c, c'; x, t] \end{aligned}$$

(11)

Case VI

Let

$$\Phi_j = \frac{(\alpha_1)_j (\beta_1)_j}{(\gamma_1)_j j!} F_3 (a_2, a_3, \beta_2, \beta_1 + j; \gamma; x, y)$$

and (2) then becomes

$$\sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k} (\alpha_1)_k (\beta_1)_k}{(\rho)_{n-k} (\gamma_1)_k (n-k)! k!} x^{n-k} F_q \left[ \begin{matrix} -n+k, (\alpha_p); \\ (\beta_q); \end{matrix} x \right] \cdot F_3 [\alpha_2, \alpha_3; \beta_2, \beta_1 + j; \gamma; x, y] t^n$$

$$= (1-t)^{-\lambda} F \left[ \begin{matrix} \lambda: \rho - \mu; \mu, (\alpha_p); \\ \rho: -; \end{matrix} \frac{t}{(\beta_q); t-1}, \frac{xt}{t-1} \right] \cdot F_N(\alpha_1, \alpha_2, \alpha_3; \beta_1, \beta_2, \beta_1; \gamma_1, \gamma_2, \gamma_3; t, x, y) \quad (12)$$

Case VII

Let

$$\Phi_j = \frac{(\alpha_1)_j (\beta_1)_j}{(\gamma_1)_j j!} \cdot F_2 (\alpha_1 + j, \beta_1, \beta_2 + j; \gamma_1, \gamma_3; x, y)$$

then

$$\sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k} (\alpha_1)_k (\beta_1)_k}{(\rho)_{n-k} (\gamma_1)_k (n-k)! k!} x^{n-k} F_q \left[ \begin{matrix} -n+k, (\alpha_p); \\ (\beta_q); \end{matrix} x \right] \cdot F_2 (\alpha_1 + j, \beta_1, \beta_2 + j; \gamma_1, \gamma_3; x, y) t^n$$

$$= (1-t)^{-\lambda} F \left[ \begin{matrix} \lambda: \rho - \mu; \mu, (\alpha_p); \\ \rho: -; \end{matrix} \frac{t}{(\beta_q); t-1}, \frac{xt}{t-1} \right] \cdot F_E(\alpha_1, \alpha_1, \alpha_1, \beta_1, \beta_2, \beta_2, \gamma_1, \gamma_2, \gamma_3; t, x, y) \quad (13)$$

Case VIII

Let

$$\Phi_j = \frac{(\alpha_1)_j (\beta_1)_j}{(\gamma_1)_j j!} \cdot F^{(4)} (\alpha_1 + j, \beta_1; \gamma_1, \gamma_2 + j; x, y),$$

then

$$\sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(\lambda)_{n-k} (\mu)_{n-k} (\alpha_1)_k (\beta_1)_k}{(\rho)_{n-k} (\gamma_2)_k (n-k)! k!} x^{n-k} F_q \left[ \begin{matrix} -n+k, (\alpha_p); \\ (\beta_q); \end{matrix} x \right] \cdot F^{(4)} (\alpha_1 + k, \beta_1; \gamma_1, \gamma_2 + k; x, y) t^n$$

$$= (1-t)^{-\lambda} F \left[ \begin{matrix} \lambda: \rho - \mu; \mu, (\alpha_p); \\ \rho: -; \end{matrix} \frac{t}{(\beta_q); t-1}, \frac{xt}{t-1} \right] \cdot F_F(\alpha_1, \alpha_1, \alpha_1, \beta_1, \beta_2, \beta_1; \gamma_1, \gamma_2, \gamma_2; t, x, y). \quad (14)$$

The triple hypergeometric functions  $F_E, F_F$  and  $F_N$  have been defined by Saran<sup>9</sup>. The series  $F_E, F_F$  and  $F_N$  are absolutely convergent for  $|t| < r, |x| < s, |y| < \lambda$  where the positive quantities  $r, s$  and  $\lambda$  are called associated radii of the convergence of the triple series  $\sum A_{m,n,p} r^m x^n y^p$ .

ACKNOWLEDGEMENT

I wish to express my sincere thanks to Professor R. P. Agarwal for his kind guidance and help in the preparation of this paper.

REFERENCES

1. BRAFMAN, F., *Pacific J. Math.*, 7 (1957), 1319.
2. BROWN, J. W., *Proc. Amer. Math. Soc.*, 21 (1969), 265.
3. SAXENA, S., "A Series of Transform and Certain Generating functions", Communicated for publication.
4. SHIVASTAVA, H. M., *Math. Sci.*, 4 (1969), 61-68.
5. VARMA, V. K., *J. Indian Math. Soc.*, 32 (1968), 1-5.
6. CARLITZ, L., *Duke J. Math.*, 28 (1961), 523.
7. NIBLETT, J. D., *Pacific J. Math.*, 2 (1952), 219.
8. CHAUNDY, T. W., *J. London Math. Soc.*, 26 (1951), 42.
9. SARAN, S., *Ganita*, 5(2) (1954), 77.